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1. Calculate the percentage of magnesium in

MgSOy


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1dNj8oSB0wwx

° Watch Video Solution

2. How much copper can be obtained from 100

g of CuS0O,4 (Atomic mass of Cu =63.5,S =32)

o Watch Video Solution

3. An oxide of nitrogen contains 25.9 % of

nitrogen. What is its empirical formula

° Watch Video Solution



https://dl.doubtnut.com/l/_1dNj8oSB0wwx
https://dl.doubtnut.com/l/_jWAgCOWQBkxa
https://dl.doubtnut.com/l/_zDhjr7ZmpEYu
https://dl.doubtnut.com/l/_LmuzqLip1HbE

4. Calculate the mass of chlorine required to
react with 020 g of hydrogen to yield
hydrogen chloride. Also calculate the amount

of HC| formed.

o Watch Video Solution

5. Calculate the volume of oxygen at STP that
can be produced by heating 12.25g of

potassium chlorate.

o Watch Video Solution



https://dl.doubtnut.com/l/_LmuzqLip1HbE
https://dl.doubtnut.com/l/_dGFZFyULQ2eU

6. Calculate the number of moles and mass of
methane required to produce 11 g of CO, by

combustion.

o Watch Video Solution

7.15 g of Hyreact with 145 g of O, to form

water Which is the limiting reagent?

° Watch Video Solution



https://dl.doubtnut.com/l/_67svciQAaw8W
https://dl.doubtnut.com/l/_7sGJI30QWlFo

8. 1.5 g of Hyreact with 14.5 g of O, to form
water Calculate the amount of water that is

formed in the reaction.

o Watch Video Solution

9. 15 g of Hyreact with 14.5 g of O, to form
water Calculate the amount of the reactant

which remains unreacted

o Watch Video Solution



https://dl.doubtnut.com/l/_k8Ttv8QcQjRw
https://dl.doubtnut.com/l/_ivmYLDLcnvoC
https://dl.doubtnut.com/l/_nB7EllwToJic

10. 4g of Noah are dissolved in 100 mL of
solution. Find its molality if the density of

solution is 1.038%7713

o Watch Video Solution

11. Calculate the mass of zinc required to
produce 448 mL of H, at STP by reacting with

dilute sulphuric acid (Atomic mass of Zn = 65).

o Watch Video Solution



https://dl.doubtnut.com/l/_nB7EllwToJic
https://dl.doubtnut.com/l/_0TvQMcfFos2r
https://dl.doubtnut.com/l/_SHIw005um9JF

12. How much iron can be theoretically
obtained by the reduction of 1 kg of FeyO5

Atomic mass of Fe = 55.8.

o Watch Video Solution

13. 7g of N, is allowed to react with 2g H in
presence of catalyst to form NH3z Which is the

limiting reagent?

o Watch Video Solution



https://dl.doubtnut.com/l/_SHIw005um9JF
https://dl.doubtnut.com/l/_WOVpK41tUzaQ

14. 7g of N, is allowed to react with 2g H in
presence of catalyst to form NHj3 Calculate
the maximum amount of NHj3 that can be

formed in the reaction.

° Watch Video Solution

15. Calculate molecular mass of glucose

(06H1206) molecule.

o Watch Video Solution



https://dl.doubtnut.com/l/_XAASkzywFupV
https://dl.doubtnut.com/l/_LcILXeUB6kBL
https://dl.doubtnut.com/l/_FhrKyRb73y7g

16. A compound contains 4.07 % hydrogen,
24.27 % carbon and 71.65% chlorine. Its
molar mass is 98.96 g. What are its empirical

and molecular formulas?

° Watch Video Solution

17. Calculate the amount of water (g) produced

by the combustion of 16 g of methane.

o Watch Video Solution



https://dl.doubtnut.com/l/_FhrKyRb73y7g
https://dl.doubtnut.com/l/_eoEPXDr77AB1
https://dl.doubtnut.com/l/_lAdBB2xpkBB9

18. How many moles of methane are required

to produce 22 g CO4(g)after combustion ?

o Watch Video Solution

19. 50.0 kg of Ny(g) and 10.0 kg of Hydrogen
(g) are mixed to produce INHj(g). Calculate
the amount of NHj3 (g) formed. Identify the
limiting reagent in the production Of NHj in

this situation. —

o Watch Video Solution



https://dl.doubtnut.com/l/_lAdBB2xpkBB9
https://dl.doubtnut.com/l/_AJmRi1LphTJZ
https://dl.doubtnut.com/l/_qBaEESkIXZlH

20. A solution is prepared by adding 2 g of a
substance A to 18 g of water. Calculate the

massper cent of the solute

° Watch Video Solution

21. Calculate the molarity of NaOH in the
solution prepared by dissolving its 4 g in

enough water to form 250 mL of the solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_qBaEESkIXZlH
https://dl.doubtnut.com/l/_hACWWUODGFny
https://dl.doubtnut.com/l/_MAOTWSEeLcYg

22. The density of 3 Absolution of NaCl is

1.25gmL ! Calculate molality of the solution

o Watch Video Solution

23. Calculate the mass percentage of elements

present in NaSO, sodium sulphate

° Watch Video Solution

24. Determine the empirical formula of an

oxide of iron which contains 69.9 % iron and


https://dl.doubtnut.com/l/_MAOTWSEeLcYg
https://dl.doubtnut.com/l/_azJDF5KQapST
https://dl.doubtnut.com/l/_xQZNZcrz4nW8

30.1 % oxygen by mass.

o Watch Video Solution

25. Calculate the amount of COy produced

when 1 mole of carbon is burned in air

° Watch Video Solution

26. Calculate the amount of COy produced

when 1 mole of carbon is burned in 16 g of O,

o Watch Video Solution



https://dl.doubtnut.com/l/_xQZNZcrz4nW8
https://dl.doubtnut.com/l/_pKvT3ZVds7du
https://dl.doubtnut.com/l/_FB2cFm6I84WV

27. Calculate the amount of COy produced

when 2 moles of carbon are burned in 16 g of

O,

° Watch Video Solution

28. Calculate the mass of sodium acetate
(CH3COONa)required to make 500 mL of
0.375 M aqueous solution, (Molar mass of

CH;COONa = 82, 0245gmol !

| e |


https://dl.doubtnut.com/l/_FB2cFm6I84WV
https://dl.doubtnut.com/l/_gPQOGW5nAaL3
https://dl.doubtnut.com/l/_9EJz46ZA4lPv

& Watch Video Solution I

29. Calculate the concentration of nitric acid in
moles per litre in a sample which has a density

of 1.41gmL ! and the mass percent of nitric

acid in it being 69 % .

o Watch Video Solution

30. How much copper can be obtained from

100 g of CuSOy

l ° Watch Video Solution


https://dl.doubtnut.com/l/_9EJz46ZA4lPv
https://dl.doubtnut.com/l/_cExNTQUXUb7f
https://dl.doubtnut.com/l/_rI1KATQKRgbR

31. Calculate the following In three moles of
ethane (CyHg) Number of moles of carbon

atoms

° Watch Video Solution

32. Calculate the following in three moles of
ethane (CyHg) Number of moles of hydrogen

atoms

° Watch Video Solution



https://dl.doubtnut.com/l/_rI1KATQKRgbR
https://dl.doubtnut.com/l/_oVw0Aas0X3ID
https://dl.doubtnut.com/l/_xd7yMobbom1J

33. Calculate the following in three moles of
ethane (CyHg) Number of molecules of

ethane

° Watch Video Solution

34. Calculate the concentration of sugar
(C12H2011) in mol L™! if its 20g are

dissolved in water to make a final volume of 2L.

° Watch Video Solution



https://dl.doubtnut.com/l/_xd7yMobbom1J
https://dl.doubtnut.com/l/_FkoJiz2al6k5
https://dl.doubtnut.com/l/_KY9L5FZzmC3G

35. Match the following prefixes with their

multiples
(i) micro 108
(if) deca 10°
(iif) mega 107
(iv) giga 1077
(v) femto 10

o Watch Video Solution



https://dl.doubtnut.com/l/_KY9L5FZzmC3G
https://dl.doubtnut.com/l/_sduMD9V3ru4J

36. If the speed of light is 3.0 x 10%ms ™!
calculate the distance covered by light in 2.00"

nanosecond.

o Watch Video Solution

37. Dinitrogen and dihydrogen react as
Ny(g) + 3H3(g) — 2NH3(g) Calculate the
mass of produced if 2.00 x 10°gdinitrogen

reacts with 1.00 x 10°g of dihydrogen

° Watch Video Solution



https://dl.doubtnut.com/l/_hAKFVT1RJdAv
https://dl.doubtnut.com/l/_SkEtmEijywGs

38. Dinitrogen and dihydrogen react as
Ns>(g) + 3H5(g9) — 2NHj3(g) Will any of the

reactant remain unreacted?

° Watch Video Solution

39. Dinitrogen and dihydrogen react as
Ns>(g) + 3H5(g) — 2NHj3(g) If yes, calculate

the mass of the reactant.

° Watch Video Solution



https://dl.doubtnut.com/l/_SkEtmEijywGs
https://dl.doubtnut.com/l/_sHiIZiRc6mqS
https://dl.doubtnut.com/l/_4QFtIFaCNz7J

40. How are 0.50 mol Na,CO3 and 0.50 M of

Na,CQOj different.

° Watch Video Solution

41. If 10 volumes of dihydrogen reacts with 5
volumes of dioxygen gas, how many volumes
of water vapour would be produced (volumes

are measured under the same conditions)

o Watch Video Solution



https://dl.doubtnut.com/l/_yh1h5g2eiPz9
https://dl.doubtnut.com/l/_GeptXol8Nget
https://dl.doubtnut.com/l/_BFb1mGyrNKsZ

42. Which one of the following will have
largest number of atoms?

1g Au (s)

1g Na(s)

1g Li(s)

1g Cly (g)

o Watch Video Solution

43. Calculate the mass of one 125 atom in

gram.

o Watch Video Solution



https://dl.doubtnut.com/l/_BFb1mGyrNKsZ
https://dl.doubtnut.com/l/_TVei7sbIh21b

44, Calcium carbonate reacts with HCl as
CaCO;3 + 2HCl — CaCly + Hy0 + CO,
Calculate the mass of CaCO;3; required to

react completely with 25 Ml of 0.75 M HCI?

o Watch Video Solution

45. Manganese dioxide reacts with
hydrochloric acid as


https://dl.doubtnut.com/l/_TVei7sbIh21b
https://dl.doubtnut.com/l/_mIpRQY5cfusW
https://dl.doubtnut.com/l/_9KW7n8RG0eMG

Calculate the mass of HCl that reacts with 5.0g

manganese dioxide (Atomic mass of Mn = 55)

° Watch Video Solution

46. Chlorine is prepared in the laboratory by
treating manganese dioxide(MnO,) with
aqueous hydrochloric acid according to the

reaction?

o Watch Video Solution



https://dl.doubtnut.com/l/_9KW7n8RG0eMG
https://dl.doubtnut.com/l/_OMGsfiNJ70zO

47. Calculate the number of moles of O,
required to produce 240 g of Mgo by burning

magnesium metal

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NwtDlxaXh45W

48. How many moles of oxygen are given by

the complete decomposition of 1.225g K CIlO4

?

o Watch Video Solution

49, If the mass percent of various elements of
a compound' is known, its empirical formula
can be calculated What is mass percent? Give

its mathematical expression

° Watch Video Solution



https://dl.doubtnut.com/l/_jA6c9pCcCJa1
https://dl.doubtnut.com/l/_FOitmzwrHhpZ

50. If the mass percent of various elements of
a compound' is known, its empirical formula
can be calculated A compound contains
4.07% hydorgen, 24.27% carbon and
71.65 % chlorine. Its molecular mass is 98.96.
What are its empirical and molecular

formulae?

o Watch Video Solution



https://dl.doubtnut.com/l/_FOitmzwrHhpZ
https://dl.doubtnut.com/l/_jaPTMAlHI0bj

51. One mole is the amount of substance that
contains as many elementary particles as 12 g
of _!'2 C isotope of carbon. What do you

mean by molar mass of a compound?

o Watch Video Solution

52. One mole is the amount of substance that
contains as many elementary particles as 12 g
of _'2 C isotope of carbon. Calculate the

number of moles in 1 litre of water


https://dl.doubtnut.com/l/_bFlEOfRa3qHG
https://dl.doubtnut.com/l/_iu2q6Txgcaz7

(Density of water is lg/mL). Also calculate
the number of water molecules in 1 litre of

water

o Watch Video Solution

53. The laws of chemical combination are the
basis of the atomic theory. Name the law of
chemical combination illustrated by the pair of

compounds, CO and CO,

° Watch Video Solution



https://dl.doubtnut.com/l/_iu2q6Txgcaz7
https://dl.doubtnut.com/l/_S3xvVqGUki0u
https://dl.doubtnut.com/l/_tr41Xk0QBKdl

54. The laws of chemical combination are the
basis of the atomic theory. State and explain

the law of conservation of mass

° Watch Video Solution

55. The laws of chemical combination are the
basis of the atomic theory Calculate the
molarity of a solution containing 8g of NaOH

in 500 mL of water

° Watch Video Solution



https://dl.doubtnut.com/l/_tr41Xk0QBKdl
https://dl.doubtnut.com/l/_h31rKqn3WfSw

56. The laws of chemical combination governs
the formation of compounds from elements.
State the law of conservation of mass. Who

put forward this law?

o Watch Video Solution

57. The combination of elements from
compounds is governed by the laws of
chemical combination. Hydrogen combines

with oxygen to form two compounds, namely


https://dl.doubtnut.com/l/_iwYDxAYVebMr
https://dl.doubtnut.com/l/_I2P9bTy7bYTn

water and hydrogen peroxide. State and
illustrate the related law of chemical

combination

o Watch Video Solution

58. The combination of elements form
compounds is governed by the laws of
chemical combination What is meant by

limiting reagent in a chemical reaction?

° Watch Video Solution



https://dl.doubtnut.com/l/_I2P9bTy7bYTn
https://dl.doubtnut.com/l/_FhYzW6NbEUKQ
https://dl.doubtnut.com/l/_yqlIDKdeYayV

59. The combination of elements form
compounds is governed by the laws of
chemical combination 28 g of N, is mixed with
12g of H; to form ammonia as per the
reaction,Ny + 3Hy — 2NH3. Which is the

limiting reagent in this reaction?

o Watch Video Solution

60. Mole is a very large number to indicate the
number of atoms, molecules, etc. Write

another name for one mole.


https://dl.doubtnut.com/l/_yqlIDKdeYayV
https://dl.doubtnut.com/l/_oxKXmIGmsvZq

° Watch Video Solution

61. How is molecular formula different from

the empirical formula?

o Watch Video Solution

62. An organic compound on analysis gave the
following composition: carbon = 40%,

hydrogen = 6.66 % and oxygen = 53.34%.


https://dl.doubtnut.com/l/_oxKXmIGmsvZq
https://dl.doubtnut.com/l/_X1GXu1QlBY7j
https://dl.doubtnut.com/l/_IoIlJ7iL1GqO

Calculate its molecular formula if its molecular

mass is 90.

° Watch Video Solution

63. Define 1 mole

° Watch Video Solution

64. What is the number of hydrogen atoms in

one mole of methane (CHy)?

o Watch Video Solution



https://dl.doubtnut.com/l/_IoIlJ7iL1GqO
https://dl.doubtnut.com/l/_qtzKnFPVghIW
https://dl.doubtnut.com/l/_WOtl5sFTCDuI

65. The mole concept helps in handling a large
number of atoms and molecules in
stoichiometric calculations. Calculate the
amount of COy formed by the complete
combustion of 80 g of methane as per the
reaction

CHy(g) +203(g) = CO2(9) 2H0 ()

(Atomic masses: C =12.01u, H = 1.008u, O=16u)..

o Watch Video Solution



https://dl.doubtnut.com/l/_WOtl5sFTCDuI
https://dl.doubtnut.com/l/_lc2m6jDQOZ0c
https://dl.doubtnut.com/l/_ya9N2gPBbGAz

66. What is atomic mass unit (amu)?

° Watch Video Solution

67.In a reaction A + By — AB,. identify the
limiting reagent in the reaction mixture

containing 5 mole of A and 2.5 mole of B.

° Watch Video Solution

68. Calculate the mass of NaOH required to

make 500 mL of 0.5 molar aqueous solution


https://dl.doubtnut.com/l/_ya9N2gPBbGAz
https://dl.doubtnut.com/l/_Xzwt1mdf2JOR
https://dl.doubtnut.com/l/_7pHayzMIDG03

(Molecular mass of NaOH=40)

o Watch Video Solution

69. How many moles of dioxygen are present
in 64g of dioxygen? (Molecular mass of

dioxygen is 32)

o Watch Video Solution

70. The following data were obtained when

dinitrogen (N;) and dioxygen (O;) react


https://dl.doubtnut.com/l/_7pHayzMIDG03
https://dl.doubtnut.com/l/_Cyr1k3Wggl6H
https://dl.doubtnut.com/l/_7nstdQWY16Mg

together to form different compounds.
w.Name the law of chemical combination

obeyed by the above experimental data.

o View Text Solution

71. What is atomic mass unit (amu) ?

o Watch Video Solution

72. Hydrogen combines with oxygen to form

two different compounds, namely, water


https://dl.doubtnut.com/l/_7nstdQWY16Mg
https://dl.doubtnut.com/l/_lXP8WmnDPeWR
https://dl.doubtnut.com/l/_yWyzq7QgL0v4

(H50) and hydrogen peroxide (Hy05) Which

law is obeyed by this combination?

° Watch Video Solution

73. Hydrogen combines with oxygen to form
two different compounds, namely, water
(H50) and hydrogen peroxide (H,0;) State

the law

o Watch Video Solution



https://dl.doubtnut.com/l/_yWyzq7QgL0v4
https://dl.doubtnut.com/l/_DoogacXq0waJ

74.How many significant figures are present in

the followings? 0.0025

o Watch Video Solution

75. How many significant figures are present in

the followings? 285

o Watch Video Solution



https://dl.doubtnut.com/l/_0zzMW2KchT6l
https://dl.doubtnut.com/l/_yEPabLgOgXmq

76. A given compound always contatins exactly
the same proportion of elements by weight'.

Name the law

o Watch Video Solution

77. A given compound always contatins exactly
the same proportion of elements by weight’.
Write the name of the scientist who proposed

it

° Watch Video Solution



https://dl.doubtnut.com/l/_LziXowgl5t9p
https://dl.doubtnut.com/l/_pU2mekPClyJQ

78. A given compound always contatins exactly
the same proportion of elements by weight’.
Calculate the number of molecules in each of
the following: 1gNy(Given that Ny is
6.02 x 10?3, molecular mass of N, is 28 and

COQ is 44).

o Watch Video Solution

79. A given compound always contatins exactly

the same proportion of elements by weight’.


https://dl.doubtnut.com/l/_pU2mekPClyJQ
https://dl.doubtnut.com/l/_KG23QTaZ49lI
https://dl.doubtnut.com/l/_JiHOCPlp0jKo

Calculate the number of molecules in each of
the following: 19CO, (Given that Ny is
6.02 x 10?3, molecular mass of N, is 28 and

002 is 44).

° Watch Video Solution

80. When nitrogen and hydrogen combine to
form ammonia, the ratio between the volumes
of gaseous reactants and products is 1: 3 : 2.
Name the law of chemical combination

illustrated here.

| e |


https://dl.doubtnut.com/l/_JiHOCPlp0jKo
https://dl.doubtnut.com/l/_clhHP7k2dO6r

& Wwatch Video Solution I

81. A compound is made up of two elements A
andBhas A =70%, B = 30% . The relative
number of moles of A and B in the compound
are 1.25 and 1.88 respectively. If the molecular
mass of the compound is 160, find the

molecular formula of the compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_clhHP7k2dO6r
https://dl.doubtnut.com/l/_qS32m801HhzC

